

# **PARTY** WAREHOUSE

### PARTY RENTALS and BALLOON STORE





### Rental Showroom and Balloons

7840 W. 11th St.

East of town Formerly Cathy Ann's Party Rentals Next to Bill's Lawnmower Before Chrisman Rd.

209 835-6030 209 835-3337

Rentals

**Balloons** 

Hours: Monday – Tuesday 10-2Thursday – Friday 10-2Saturday 10-1Closed Wednesdays and Sundays

**Rental Price List** 

Please Visit our web site at www.PartyWarehouse.com

<b>CHAIRS</b>		<b>GLASSWARE</b>		CHAFING DISHE	S
White Folding W/Chrome Samsonite	1.80	Water, 11.5 oz. Stem	.75	All Chafing Dishes Come W/2 Hr. Fuel	
Brown Folding Samsonite	1.80	Champagne Flute 6 oz	.75	& spoon or tong	
White or Black Folding Fan Back	2.00	Champagne Tulip 6.5 oz	.75	Stainless Steel 8 qt	25.00
Garden Padded White	3.90	Champagne Traditional 4.5 oz	.75	Stainless Steel 8 qt. W/ Half Size Pans	26.00
Children's	1.40	Wine 8 oz (Red) or Wine 6 oz (White)	.75	Roll Top Stainless 8 qt. W/ Brass Accents	30.00
Chiavari Gold / Silver w/pad	6.50	Beer / Soda 12 oz. Stem	.75	Oblong 8 qt. W/ Brass Accents	19.00
Farm Cross Back Natural Wood	9.50	Pilsner or Irish Coffee	.85 .95	Oval 6 qt. W/ Brass Accents	19.00
		Margarita or Martini or Cosmo Hi Ball or Coolers	.93 .75	Round 4 qt. W/ Brass Accents	13.00
		Brandy or Regina Sheer Rim	.95	Deluxe Aluminum Frame	30.00
<b>TABLES</b>		Cordial, Shot Glass, Dessert Stem	.75	Extra Food Pan Inserts Full Size	30.00 2.50
8 ft. Banquet Seats 8 adults	11.00	Old Fashion 8 oz. or Juice	.75	Half Size Food Pan Insert	1.50
6 ft. Banquet Seats 6 adults	10.50	Clear Glass Plates 5" and 7"	.75	Extra Fuel 2 Hour 2.00 6 Hour	3.50
48" Round Seats 6 adults	11.00	Brandy Snifter 160 oz or 80 oz	2.00		
60" Round Seats 8 adults	12.00				
Children's (Shorter) 6' long	12.00	FLATWARE		FOOD SERVICE	
Wheelchair Accessible (Taller) 6' long	12.00			Bar-B-Que. 5' Charcoal W/ wheels	80.00
Heart 48" round	12.00 15.00	Available: Knife, Dinner Fork, Salad Fork, Teaspoon,		Food Warmers Electric Boxes 160 Temp	110.00
48" Round W/ White Umbrella	30.00	Soup Spoon, Butter Knife:	Each	Insulated Food Warmer, Holds 6 pans.	55.00
60" Round W/ White Umbrella	33.00	Oneida Reliance Pattern 18/8	.65	Portable Bar 4'	65.00
6' Table Riser 1' x 6'	12.00	Rose Song Pattern 18/10	.60	Carving Station W/2 heat lamps	24.00
8' Table Riser 1' x 8'	13.00	Parisian Stainless Steel W/ Gold Accent	.80	Three Tier Tray, Square	13.00
Cocktail Table 30"round 30"or 42" high	12.00	Gold Flatware	.85	Ice Table 6' (for salads or sodas)	29.00
Cocktail Table 36"round 30"or 42" high	12.50	Serving Spoons, Forks, Tongs, Ladles	1.00	Ice Tubs 16 gal	7.00 6.50
Wine Barrel Table 36" top	35.00	Steak Knives	.65	14" Clear Glass Platter	3.50
Farm Table 8' long 40" wide	100.00			Champagne Bucket W/ stand	10.00
		CHINA		Salt & Pepper Set Glass, Gold or Silver	1.00
TABLE LINEN		Homer Laughlin , Ivory W/Gold		Butter Trays, Ash Trays	.50
Our linens come in a		Silver Line, White W/ Platinum Band		Bread Baskets W/ napkin	3.50
Rainbow of colors. Please ask to see		Gold Line, White W/ Gold Band		Waiters Jack Stand W/Oval Tray	14.00
our color samples		Classic White		Full Sheet Pans 18" x 26"	3.00
Banquet, 60" x 96" (6 ft. table)	16.50		Each	Bus Carts Gray two tier Bus Bins	25.00 3.00
Banquet, 60" x 120" (6 or 8 ft. table)	19.90	Dinner Plate 11"	.70	Glass Rack Carts	12.00
Banquet, 72" x 144" (8 ft. table)	24.00	Salad Plate 7"	.70	Cup Cake Stand 3 tier	15.00
Round, 72" Limited availability	16.00	Cup	.70 .70	Cup Cake Stand 5 tier	20.00
Round, 90" (60" table W/15" drop)	19.00	Bread and Butter Plate	.70		
Round, 102" (60" table W/21" drop) Round, 108" (48" table W/floor drop)	21.00 23.50	Bowl	.70	CONOFCCION	
Round, 120" (60" table W/floor drop)	34.00	Platter, Vegetable, Cream & Sugar	2.50	CONCESSION	
Round, 130"	39.00	Oval Serving Bowl / Asparagus Bowl	7.50	FOLIDAENT	
Round, 90" W/ umbrella hole	20.00	Rectangle Serving Trays	16.00	<b>EQUIPMENT</b>	
Square, 54"	10.50	Chargers Gold or Silver	2.00	Sno Cone Machine	65.00
Square, 72"	15.50	Chargers White China, Starburst Chargers Glass Gold Beaded	2.50 3.90	Popcorn Popper	65.00
Square, 90"	20.00	Paradise Med. Band Gold or Silver	.75	Cotton Candy Machine	65.00
Napkins,	1.30	Sahara Black / Gold Band	.75	Hot Dog Steamer	35.00
Napkins, Satin, Designs,	1.80 2.95	Vanessa Silver / Vanessa Gold	.90	Raffle Drum Brass	18.00 130.00
Table Skirting, 10.5'	26.00	Elegance Gold/ Silver/ Gold band	.90	All Supplies Sold Separately	150.00
Table Skirting, 13.5'	32.00	Geo, Square and Triangle White	.85	y	
Table Skirting, 17'	37.00				
Table Drape 4'	24.00	BEVERAGE		DANCE / D. J.	
Table Drape 6'	29.00			•	20.00
Table Drape 8'	32.50	SERVICE		Mirror Ball W/ motor and 2 Lights Pin Spot	30.00 10.00
Chair Covers with Sash 6.95 to Chair Drape no Sash 4.95 to	9.50 8.00	60 Cup Coffee Maker	23.00	Bubble Machine, liquid not included	15.00
Aisle Runners White 25'	55.00	100 Cup Coffee Maker Stainless	25.00	Strobe Light small / Police Light Red/Blue.	7.00
Aisle Runners White 50'	85.00	2.3 Gal. Beverage Server W/ ice core	16.00	Up Light ea./ Control Box ea./ Strobe Lg.	25.00
Linen 10 ft. Table Runner	6.75	3 Gal. Beverage Server	13.00	Line Dancer Light / Deco 250 Light	30.00
Linen 10 ft. Table Runner Lamour	10.50	5 Gal Coffee/ Beverage Server	18.00	Star Ball, / Saga gobo	30.00
Sash	3.00	10 Gal Coffee/ Beverage Server	28.00	Mystic Light pattern maker	30.00
Sash Lamour	3.50	2.5 Gal. Plastic Pebbled Bowl	9.00	PAR 56 Flood light Polished Aluminum Podium Floor Model, no sound	25.00 25.00
Spandex Cocktail linen	26.50	2.5 Gal. Plastic Pebbled W/ Stand	11.00	Bluetooth Speaker with mic	40.00
Lamour,		4.5 Gal. Plastic Pebbled Bowl	12.00 16.00	Dance Floor Maple Parquet 3 x 3 section	12.50
90" Round	29.50	6.5 Gal. Plastic Pebbled Bowl	14.00	(Not for Grass or uneven surfaces)	
108" Round	33.50	Ornate Stainless Bowl W/ Ladle	24.50		
120" Round	39.00	Hostess Sets (Cup & Plate) Clear	1.20	01-23	
6' Table Drape	41.00	Servers (White) or (Copper)	3.00		
8' Table Drape / 132" Round	46.00	Water Pitcher Clear Plastic 60 oz	2.90		
		Carafes 1 Liter	2.90		

Carafes 1 Liter .....

Cocktail / Dressing Decanter Vase 6 oz

.60

Other designs Please see price list in store

Gingham design, Prints, Shantung and

## WEDDING ITEMS

4 P.CHEC	
ARCHES	45.00
White Lattice, Fiberglass	45.00
Column Arch 6 or 8	170.00
SCREENS and PANELS	
White Lattice, 6 X 7 Three Piece	20.00
CANDELABRAS ***	
5' Tall, 5 Light Candelabra Silver	75.00
Tabletop 5 Light Candelabra Silver	15.00
3 Light Candelabra Table	5.00
Candleholders assorted styles, from .75 to	1.50
BASKETS	
	20.00
Flower Basket Floor pair Flower Basket W/ Handle pair	15.00
Favor Baskets small med	7.50
Favor Baskets large	10.00
-	10.00
MISCELLANEOUS	
Guest Book Stand	20.00
Heart Guest Book Stand	20.00
Aisle Standards, White plastic	5.00
Aisle Chain, White plastic 10 ft	2.50
Money Trees, White	6.00
Banister White Straight or Curves each	20.00
Pillars White plastic 2' - 3.5'	15.00
Pillars White plastic 4' - 5'	20.00
Pillars White plastic 6'	25.00
Pillars White plastic 8'	30.00
Flower Urn White plastic	12.00
Portifino Lights 4 Globe 6' pole white	35.00
Waterfall Fountain Gray Lg	75.00
Garden Bench Wood W/ Green Iron	15.00
Mailbox White	15.00
Birdcage	15.00
Bird Bath	5.00
Mirror Rounds 9", 12", 14"***	3.00
Bud Vases, Glass	.50
Tall Vases W/ long neck 16"	2.00
Hurricanes 11.5"	2.50
Centerpiece Bowls	2.00
Mirror Cake Stand	.50 12.00
Tabletop Lamps Silver W/White Shade	12.00
Tabletop Lamps Crystal W/White Shade	10.00
Table Reservation Place Card Holder	2.00
rable reservation race card fielder	2.00

#### **HELIUM**

#### \*\*\* PLEASE NOTE \*\*\*

HELIUM FILLED BALLOONS ONLY LAST ABOUT 8 TO 12 HOURS.

The AMOUNT of balloons per tank is approximate. The amount YOU get will vary due to over or under inflation and brand of balloon. i.e. Blowing an 11" balloon to 12" will yield a longer

lasting balloon (if it doesn't pop) but the amount of balloons per tank will decrease by about 30%

All Helium Tanks include a standard regulator at no extra charge.

20 cf. Tank **includes** 40 - 11" balloons and 40 ribbons. Colors of your choice . . . . 114.00

The following tanks do not come with balloons or ribbon (BALLOONS SOLD SEPARATELY)

	9" SIZE	11" SIZE	
25 cf.	100 Balloons	50 Balloons	114.00
40 cf.	140 Balloons	70 Balloons	179.00
55 cf.	200 Balloons	100 Balloons	228.00
80 cf.	280 Balloons	140 Balloons	299.00
109 cf.	400 Balloons	200 Balloons	399.00
140 cf.	500 Balloons	250 Balloons	486.00
180 cf.	600 Balloons	300 Balloons	597.00
219 cf.	800 Balloons	400 Balloons	711.00
244 cf.	850 Balloons	425 Balloons	817.00
272 cf.	950 Balloons	500 Balloons	899.00

Electric Air Blower	10.00
Hand Pump ( metal )	3.00
2 Person Regulator	5.00
3 Person Regulator	6.00
4 Person Regulator	8.00
Gauge W/Regulator, Monthly Rental .	7.00
Standard Regulator, Monthly Rental .	5.00
Tank Rental Per Month	7.00
Dual Regulator latex/mylar w/gauge	7.00
Tank Stand	5.00

#### **COSTUMES**

Rabbit Reg	50.00
Rabbit Deluxe Lg. Head	60.00
e	
Santa Suit (beards/wigs sold separate)	45.00
Santa Suit Deluxe Plush" ""	55.00
Santa Suit Deluxe Velvet " " " "	55.00
Mrs. Santa Dress Velvet" "" "	50.00
Mrs. Santa Dress" "" "	40.00
Elf	35.00

#### **GAMES**

Bean Bag Toss	12.00
Tic Tac Toe	12.00
Milk Can Toss	12.00
Milk Bottle Throw	12.00
Ring Toss	12.00
Brass Raffle Drum	18.00
Wheel of Fortune	50.00

\*\*\* Cleaning Deposit Required

#### **MISCELLANEOUS**

Patio Heater W/ 5 gal. Propane tank	85.00
Heater 80,000 Btu W/20 lb. tank	60.00
Propane Tank 5 gal. Filled	35.00
Tent Heater 170,000 Btu W/40 lb. per day	210.00
Fan 30"	45.00
Generator 5,000 watt per day	55.00
Portifino Lights 4 globe	35.00
Garden Light Victorian Black Single Light	35.00
Extension Cords, orange 50'	4.50
Extension Cords, orange 100'	5.50
Tiki Torch Bamboo, fuel not included .	2.00
Tiki Carving centerpiece 2.5'	15.00
Coat, Garment Racks w/ 50 hangers	20.00
Red Carpet 25' x 4' or 5' wide	60.00
Stage Risers 3 x 6 15" high / 30" high	30.00
Stage Risers 4 x 4 Adjustable Height	55.00
Wind Dancers 20 ft tall (week)	200.00
Air Tube Inflatable "Sale" (week)	50.00
Trash Can, 32 Gal W/3 liners	9.00
Easel, Stainless, Floor size	15.00
Wine Barrel	35.00

# DRAPERY WALLS

Banjo Cloth	
Drapery Wall 15' High x 37' Wide	
Includes Weights, Poles, & Drapes	
W/Delivery and Set-up, Takedown	490.00
15' High, 9' Wide Sections, W/4 Drapes	95.00
8' High, 10' Wide Sections, W/4 Drapes	40.00
3' High, 10' Wide Sections, W/1 Drape	25.00
Photo Booth includes 4 walls 7' tall	145.00
Pole Covers White	4.00
Banjo Panels Separate each	7.00
Includes Weights Poles & Dranes	

Includes Weights, Poles, & Drapes
White, Black, Royal Blue or Green
Other Colors, Heights, and Lengths
Available by Special Order

Drapery Wall Poly Knit	
8' High 10' Wide Sections, W/4 Drapes	55.00
Poly Knit Panels Separate each	
Colors Available	
Gold, Silver, Red, Pink, Navy, Purple	
Burgundy, Hunter Green, Black, White	

Drapery Wall Sheer	
8' High 10' Wide Sections, W/4 Sheer	
and 4 Solid Drapes W/All Hardware	120.00
Sheer Panels Separate each	20.00
White or Ivory Sheer	

Wedding Canopy	
8' High 10' Square Adjustable	
Includes All Hardware and Sheer Panels	225.00
Top and 3 Sides	

Gold Sequin Wall 8' Tall 10' Wide	120.00
3 Panels	

Barn Doors Photo Backdrop 8' Tall 10' Wide 1	20.00
--	-------

1-23



#### **CANOPIES / TENTS**

WHITE TOP or RED FRAME CANOPIES E-Z UP Style	You pick up	W/set up and to	ake
EZ-UP TENT 10'x10'	60.00		
SIDES 8' x 10'	10.00		15.00

#### **DELUXE TENTS**

Solid White Top or Red / White Stripe

Solid white Top of Red/ white Surpe	
Includes set-up/take-down w/stakes	
10 x 10	220.00
10 x 20	250.00
15 x 15	240.00
10 x 30	300.00
20 x 20 or 10 x 40	400.00
20 x 30	600.00
20 x 40	800.00
20 x 50	1000.00
20 x 60	1200.00
20 x 70	1400.00
20 x 80	1600.00
20 x 90	1800.00
20 x 100	2000.00
20 x 120	2400.00
40 x 40	2000.00
40 x 60	3000.00
40 x 80	4000.00
30 x 40	1500.00
Side walls Solid White 10' Section	35.00
Side walls White W/ Cathedral window	45.00
Tent Lights Chandler 4 Globe	35.00
Tent Lights String 6 Globe	34.00
Tent Lights String 10 Globe	45.00
Extension Cords, white, orange 25'	4.50
Portifino Lights 4 Globe on pole	35.00
Fluorescent Lights for tents 4, 2 bulb	20.00
Tent Pole Covers ea	10.00
Water Barrel Weight for asphalt or concrete.	20.00
Water Pallet Weight 2000 lbs	40.00
Tent Safety Pkg. 2 extinguishers, Signs	35.00
and Battery backup Exit lights	

Tents and canopies over 200 sq. ft. may need a fire permit. Check with local fire department in your area.

1-23

**DELIVERY**: Delivery service is available for \$50.00 within Tracy City limits. Pick-up by us after your event is also available for \$50.00 in town.

Rates are based on first floor delivery to your door during normal business hours.

Additional charges are made for backyard, second floor, stairs, elevators, and areas not easily accessible to the delivery vehicle.

Additional charges apply when delivery or pick-up is required outside of normal business (9-5) hours.

Please inquire about availability and price. Upon delivery, we request that your representative and ours count – in all equipment. After your event, we ask that you count-out all equipment with our driver. If you choose not to count-out your order, counts will be conducted at our warehouse.

and flatware must be rinsed food-free and repacked in the same containers as delivered. Linens should be dry and free of food, confetti, etc. Do NOT put linens in plastic bags. Please use laundry bags provided to protect the linens. Wax on linens or equipment will incur additional charges. Tables and chairs must be folded and stacked ready for pick-up. Items not meeting these conditions are subject to additional charges.

#### **EQUIPMENT RESPONSIBILITY:**

Responsibility for equipment remains with the renter from the time of delivery or pick-up to the time of return. Please be sure equipment is secure, and protected from weather when not in use. A charge will be added for items requiring

A charge will be added for items requiring cleaning, or drying. Customer will be charged for broken, damaged, and missing items.



Member American Rental Association Member California Rental Association **SET-UP**: Set-up and take down service is also available. Minimum Set - up or Take - down fee is .20 per item.

#### **IDENTIFICATION**:

A valid California Drivers License is required to pick up any rental items.

**DEPOSIT**: A cleaning and security deposit is required on all orders with an authorization on a major Credit card for \$100.00

**PAYMENT**: All rental fees are required to be paid in advance.

#### CANCELLATION POLICY

Deposits will be refunded in full provided that we have received a cancellation notice at least 72 hours prior to delivery or pick-up.

If the reservation is canceled less than 72 hours before, a 50% fee of the total rental may be accessed.

**LIABILITY**: Because of Insurance reasons we can not load or unload your vehicle.

Customer is responsible for loading, securing, AND counting equipment.

Prices are subject to change without notice.

WE ARE CONSTANTLY ADDING TO OUR RENTAL INVENTORY. IF YOU NEED SOMETHING THAT IS NOT ON OUR LIST, PLEASE ASK ABOUT IT.

WEDDING INVITATIONS

20% OFF

Everyday low Price



Many of our rental items are pictured on our web site. Please visit us at

www.PartyWarehouse.com

### PARTY RENTAL SHOWROOM and BALLOONS

7840 W. 11th ST. (EAST OF TOWN) TRACY, CA 95304 209-835-6030 Rentals 209-835-3337 Balloons Central Ave.

Central Ave.

Parker Ave.

Holly Dr.

Holly Dr.

East St.

Chrisman Rd.